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(a) not allawed , beanuse P(B) (s mjam
because P (AUB) =P(A)TP(B)*P(A/IB)=I.I>I‘

(b) net allowd ,
p(g)=0.6 W AC Bz PANBRS

(¢)  allawed - eg. P(A) =003

Prcblem A?
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(b) P(A)= 0.4, P(B)= 0.0
P(AB)= 00f  PO)=0¥
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PCAUAB)= P+ P(Ay)- P(AN AB)
~ PALPAB)- PC @)
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(&) pot dezjm‘rﬁc, because o persen can ﬂe@/j(ﬁﬁe‘{“"ﬂ/“fe
them or reaal?«f

(b)  p(w)= 0.%¢ +olf =0.58
cc)  PNNR) = 4%
(d)  P(WNR )= 0. 1%
Le) pPegnr) = 0.4



Problesin 4 | |
T by deete] G = Shuff feced

we knm)

P( B\G)= 006, P(<\ B) =008

P(B(]S): 0.0
(o) P(B Y PUBLS IR PLBIR )= 0.02+t0.06 = 0,08

(P) pBUS)= P(B\S)+ P(BOS)+P(SIB)

2 GO0 C 000 € 002
e

Cer PCBISIV(S\BY)= P(BIS)TP(SIB)= otraos-0,1g

(d) P(BUS) = [~ PCBUS)= (0.1 = 0.8¢
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let A B, C dents the thiee wines,
) On Sanpl. paid s ARN e ey ¥ place o best
B baad best, A s wost.

(5)  g= { ABe, ACB, Bac,B8¢A, CAB, CBAJ

&8 8 WLOG , assuma A & thbest wing, 4he Pf’Sﬁff/ﬁ?fJOf

A beiy no wirse Than Secod best = ABC, Acg BAC,CAB S

prodalility = Q'__ 5 %_



Poblegh 6 (2.3%0)

App sa | -

[4) x(3)x{ FIx(]) = 4x3uexS= 240

S
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[0 chose % with no ref)(ww  the order does matter
because & =t differend positims.
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Problom B: (2. 38)

(o) Partion 9 taxs oo three quups, gupSiasare 3, 1.

q s B
(B,S,l) > AR s

Problem Qs ( 2.36)
(A)  Gien the C(nformateon th predivus  probbem, ‘o i)néaﬂ:‘/:‘g i;(-
exactly g taxi o nod of repasr jﬂbﬂﬁ) AUrpat ¢ (3 Y.
Swma thue are Ufal "f q  tows altgetor ard o reads
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the chance of ths o pur—nudd G gigt ¢ & 4

(4). the wﬂAjS 0]( allocati 6 @xi3 (N0 need of rgour) (\S
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the wey of  alloaaty 3 rafm\f_nnm(fj o (S P-.;’ = 6
proh = (b8 " &
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(b) Use te Mn rele; since 26 letters awiabl | we dag

(ZEXh T & [T #UX* 2 ) = 18352 ”7}:-? coolis
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T~ luttar ¢ oelg fkreﬂ%gmr cw{g\
(c)
(%50 (30 z
(T VR )

(d)° vos. bemipe (B3 SR

Pablem 1\ ¢ (2.44)
(S) ‘toto\(#O‘fSaMf?La pm‘&dz: ¢) N ¢, =70
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Cital #of pelats (}—leuact:(lg)*(zf): Z_é__
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b = 4 = 3
Boblam 12° ( Q50)
(2.5) £ = asaed

Gl #of poits crewd = 61 = 720

Pob = %6% : ‘%zc,L



poblam 132 (R.51)
(.
)m( of sample pon =
W[ofew = 51

P = ____f__l,.O_.-f—-
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